
	Extended data Fig. 1-3. Instantaneous gaze velocity	

	Robust fit regression model (normal distribution, dummy coding):
speed ~ 1 + group

	F(3,38) = 44.1
	p-value = 1.87 *10-12
	 Adj. R-Squared = 0.76

		

	
	Estimate
	SE
	t-stat
	p-value

	Intercept (CC)
	20.29
	2.02
	10.03
	3.2 *10-12

	SC
	-17.52
	2.69
	-6.51
	1.1 *10-07

	DC
	-16.45
	2.94
	-5.59
	2.1 *10-6

	NC
	8.58
	2.86
	3.0
	4.8 *10-3

	

	Other contrasts:
	

	SC-DC
	-1.07
	
	-0.39
	0.7

	SC-NC
	-26.10
	
	-9.7
	7.9 *10-12

	DC-NC 
	-25.03
	
	-8.51
	2.4 *10-10

			





